AEATY

<A siv1l & ol v sura

(Trigonometric Ratios of Acute Angles)

14.01 FHHIOT f})l'*la (Right Angled Triangle):

geqal ATl g UeT @ b VT Ryt fSraH U ior 90° T 81, a8 |AHHI0T 2ol
PEACT S | FIF 14.01 T FHBIV B3t & FSAH LB b AHBIVI & | FHDIOT D AW YSIl
BT Pl PHE 6, 37T TP AABC HAC Hof € | BT AHapI0r A4
Pr4S1 & o= <1 BIvll & ey | BT PIvT BT a1 arell Bl &
3FfaIfReh TR YT AR (base) 37T A= Il TAT $H HIVT
DT A YOIl oTH Peardl & | & 14.01 § £C & forg yor
CB 3R AT YT AB & I Hl | SHUSR L4 & forg 90° [
ST AB 1 IR AT YT BC BT o d BT | Adepror Byt & € R 14.01 B
FABIO & AR 1= BIVT =T PIVT BN & | FHBIT T b '
TRl § URER Fdel & oy qiemras g3

“fBRT FHDTT gt & 0T R G411 I BT &Il ST Bl 2N &1 YSIrsil R & a1 &
STl & AT $ SRR BT

SUIRT # {11 ST | SUYeh T9 Pl Hard H &7 14.01 B Haw H 59 UBR o Fepdl & -

AC? = AB* + BC?

W & fH A AB, BC TAT AC H Q BIg I old <1 715 8l AT ArE I A1 B I
FH B | A

IqTexvT 1: fedl GuaIvr s ABC ¥ &1 9 qen

¢ & faq Sl & 19 9a1sd | ¢
gl : B S ABC H /B |HPIO & | 34 YSlT AC ol
21 AT DI @ o oy YT BC IR TAT Sl 4B T 2 | c 9 90° A

S UBR DI ¢ & oG Yol AB R TAT YT BC T & | 15 14.02
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IeTervT 2: fHHl s ABC A «B @9&1v1 2 | AfE ST 4B =4 A+

qAT {ST AC =5 | g1, 9l Y1 BC 9T SITHQ |
g : UETGAR A ABC 1 dedl 23 a1, o

90°

ar BC*=25-16
ar - BC*=9
M BC =3 A
14.02 g BTl & Prawiorfdia srqura
(Trigonometric Ratios of an Acute Angle):
o=l oI 3Ryt # forgi Q1 qoTrail @ STuTd & v S uTd &8d ¢ |

o171 14.03

AT ABC U FHBIT B3 €, fR L ABC AHSIT 2, T LCAB=6 &I, al

. oY BC

(1) - AC =sine® J1 AT 6 |
sine® BT FAT H sin@ IT AT O for@m Sar 2 |

(ii) SR _AB _ osined JT PIfCHT 6 |
@l AC ot
cosine O &I T H cosh IT HISAT O forar ST 2 |

ofH

BC
(ili) ———=——=tangent 6 J7 WI=AT O | 0 90°[]

31T€I'I'\’A A

tangent 0 ®I T H tand AT O oG SIaT 2 |

MR 4B =17 14.04

= cotangent 6 IT HIfFCTIAT O |
(_"p%[ BC

cotangent @ BT FET H cotd ATHRY 9 @ SIar g |

V) %=%:secant9 mwaﬁﬁ_&r\y 0 |

secant @ ®I T H secO I FDIAT O fordl ST & |

?501‘ _AC
Fﬂ%[ BC
cosecant O I HeT H cosec § IT AT O fordm ST 2 |

STEMR

(iv)

(vi) =cosecant 6 AT FhASAT 6 |
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feuofy : (i) 79 NRIY U aRBI ar AX 3o onfe Rerfd 4x | eid 4 &7 Rer w@a
gU grTda a2 § UREHAT Rl g5 U TFIHD g DIV LXAP =0 AT = | fa=g
C,C,,C, ¥ AX W P9 CB, C\B, AT C,B, WifAy|

BH QW © &b BR[ST CAB, C,4B,, C,AB, $1(&
ey Byt €| gafory
BC_BG _BG _ |
AC  AC, AC,

sinf@ =

4 B B B, X
=171 14.05

39 UPR 8H <9 & b Udd Rfd # sing A
cos@ T A WA BT & FATq 371 A URBMI ¥@T
R Reyd famg P o1 Refd o iR 81 a1 8 | 301 IR 0 o 31 b o1faeiiar srgara 1
aRET ¥ R g P Y Rerfar w= fndR 7181 ava £ |

31ct: oY RrepToTiAT SIUTC T /19T =g D17 O UR iR el 2 7 b AHapIoT gt
B IR TR | R TS BT 9 & forg FDTOAT IguTd &1 A1 Sifgciia B1aT 2, 39 BIRO
q B /urd & eI dor W wed 2 |
(i) sin®, cos@, tan 0, ... IS BT 31f FHETMY &1 © f sin IT cos AT tan AT ... Pl
6 3 ToT faa T B

arerfg sin@ #sinx 0
cosO # cosx 0
tan 0 # tanx 0

(iii) frY +f ereTeies =g D17 & PRI IguTd Aad e THS 81l & |
gseTdlg Sarevl
JETBRT 3: YT ABC 4 $10T B GHBIUI B, BT A4 & fa¢ 9+
Hratorfidia sigura faferg |
gl - 2 14.06 & STTAR Yol AC BVl & TAT BIVT 4 DI T Yol BC 2| 3
AABC HYSTT AB MR, YoTT BC oI qAT oIl AC &I 2 |

sinA—W—BC ¢
®uf AC
AR AB
cosd=———=——+
®9  AC 4 9p°
A B
tanA:ﬁ:B_C = 14.06
AR AB
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cotA= =—
ISESH BC

9 AC
seccA=———=——
AMIR AB

T AC
cosecA=——=—+-
oY BC

JETEXT 4: S ABC H H1V1 C GABIVI © AT AB=25 |HI oIl
BC=249H1 2, @l &1v1 4 & G @ 1vrfida sigura sra SIS |
8l : . AABC TP GHPIV ol &

“ AC=+AB?*-BC?
62\@
=\(25)° - (24)° y
90°
=49 B uwm C
=13 14.07

JQTERT 5: I sin0=§ gl, dl 9 @ AW Basvfidia srqurd sira 1y |

& 1 AABC &1 3= &R & fordH sind :% (o1 14.08) AT o/ AB 3R FHof

AC, 3:5 HAJUTAH T | AFMKUB =3k T AC =5k, S8l k>0 SN b AUl SRR |
31a: AT A |
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BC? = AC? - AB* = (5k)’ - (3k)" =16k y
BC = +4k
il BV 0 = BT, 3 BC AT Y ok 3k
Jgqfq BC =4k

1—tané@
1+tan@

13
I<ST8YVT 6: Ifg secd BT g1, di BT J19 ATd BT |

g : ST ABC &1 &1 & @ fored secezg (Ferar 14.09) |

31 Hof AC SR MR BC,13:12 U H B |
9T AC =13k, BC =12k,

o . 13k
& k>0, S & argurfares srer A E |
31q: e 3 | 5
AB? = AC? - BC? =(13k )’ — (12k)* = 25k> C 12k
AB — 15k 31 14.09
AP PIT O <A DIV 8, 3TT: AB G-T3D BT |
" AB=5k
AB 5k 5
tanf == =2
BC 12k 12
el
l1-tan® 12 _ 7
3 l+tan® |, 35 17
12
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sin A
IQT8XVT 7: AfE cosecA=2, Al cotA+m T 919 STd 1Y |

2

8ol & cosecA:T

- BRST ABC 1@l & fo/ ¥ w94 C QiR o BC, 2:1 & gurd H & (13 14.10)

HET AC =2k, BC=k

& k>0, S fas oo SR i 2 ¢
31q: e 3 | ok
AB* = AC? - BC? k
A
2
A ABP=(2k) —k* =3k 4 B
3 14.10

I AB=+3k
FIIfH PIVT 4 A BT 8, A AB G-HD BT |

AB =-[3k
s1nA:—C:i:l
AC 2k 2
AB B3k 3
cosd=——=——=—
AC 2k 2
AB 3k
tA="2=E 3
BTk V3
1
sin 4 9
cot A+ =~/3+
ARATTHR 1+cos A4 NE)
1+—
2
2-3
1 (4
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10.

YI9HTAT 14.1
afd AABC H £A4=90°,a=25 ¥, b=7 AW &, @ £B 3R £C & forg
repToTfieiiar srguTa forlkay |
afd AABC § ZB=90°a=12 99, b=13 ¥ &, A DI L4 3R £C & fow
4T o sruTd forRay |

. 1
I tan 4=+2 —1 @ Rig PR smAcosA=m.

. 1
gfe s1nA:§ Tl cos Acosec A+ tan Asec A BT T ST DI |

gfe cos6 = % 21, Al AY I S urd a1d IR |

5 cosec 4
gfe cosAd=— gl d —————————— T A9 SI1d PIFY |
13 cos A +cosec A

5sin@ —3cosO
afg Stan@=4 B, A ——————— &1 A ST DI |
sin@ +2cos@

1
IST ABC % £C=90° 8 3R A cot 4 =+/3 TAT cotB=—= 2 qr Rig AT fd
NE)

sin Acos B+cos AsinB=1.

sin A+cos A
Ife 16cot A=12 B, A1 —————— T A AT DI |
sin A—cos A

191 14.13 § AD=DB da1 /B =90° g o fA=ferRad & |17 sid I |
(1) sin® (i1) cos® (iii) tan®

= A
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14.03 TSI OTFANT Srgural’ 4 ueur A9

(Relation between Trigonometric Ratios):
ol 10T St OMP | 19T @ & ol Yoil PM &%, ST OM 3R T=IT Sl
OP &Y g |

A
(i) sinfcosecHd =1 p
sin@—ﬂ 1
=op e (D)
OP
qr  cosecl =—— - (2)
PM A
(1) 3R (2) &7 IO B W o M X
PM OP ot 14.14

=1

sin@ -cosec = ——x
OP PM

AT sin @ cosecd =1

1
cosecO

= sinf =

a1 cosecH = —
sin®d

31d: sin@ 3IR cosecd URER EHA T |
(i1) cosf-secO =1

o (14.14) &
9—_SHW—O_M 3
cost = 2% oP -+ (3)
$v  OP

3R sec9—ﬁ_0—M e (4)
FHIBROT (3) 3R (4) BT URER O IR WR

cos@- sec9—0—M 22

oP OM

AT cosO-sech =1

qr secH =
secO cos@

3d: cosf 3R sech URER FTHAG |
(iii) tan@-cotf =1
oI+ PM

tanf =——
fora 14.14 9 tan - oM (5)

= cosf =
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IR OM
3R cotG:—:O_

v -+ (6)
TFHIBRYT (5) 3R (6) I IRWR oM HRA W
tan @ - cote_ﬂ O_M:1
OM PM
3T?ﬁ‘tf tan@-cotf =1
= tanO= A coth =
cot tan @
37t tan 3R cotd URER GhH & |
(iv) tan6= sin
cosf
R (1) 3R )™
PM

sin @ OP PM OP PM <X
- =tan 0
cos§ OM — Op 0 M OM  amaR

oP
sin @
g tanf =
; cos6
(v)  cotf = c?se
sin@
R (1) SR (3)¥
oM
cos@ OP OM OP OM 3¥IR
i - =cotf
sind  PM— OP “PMPM @
oP
cosf
arerfq cotf =—
X sin 0

(vi) sin?0+cos’0=1

T (1) SR (3)H

PM . oM
sinf =—— Uqg cosl =——
OP
Y e TR

sin” 0 +cos’ 0 = (%j (OMJ
op OP
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PM?+0OM?>  OP?

= = =1 e g o (R 14.14
oP oP : L )]
(vil) 1+tan®0 =sec’ 0
1 14.14 9
tanezm
OM

PM*> _OM’+PM*> _ OP’

2
1+ tan 9:1+0M2 o0 o [EﬁWQﬁﬁ]
OP
wsecld =——, 9 (14.14) 9
[sec0 ==, o (14.14) 4]
g7 1+tan’ @ =sec’ @
dawfeus fafer :
gH oI &
sin? 0 +cos?0 =1
S X% cos’ O W 9N &= IR
(sin@)z 1
+1=
cosO cos’ 0
= tan’O+1=sec’0 ( sin 0 =tand, ! :secej
cosf cos
(viii) 1+ cot® @ = cosec’ 0
OM
o 14.14 9 cot =——
PM
2 2 2 2
PM*+0OM OP
1+°°t29:1+(%J S S CIEIRERSERS))

OP
=cosec’ ( cosec 0 =—— I (14.14) ﬁj
PM

dwfeous fafer :
A8 & cos?0+sin20=1
SHI OR® sin? O WHNT S R

(cos@j2 1
- +1=— >
sin @ sin“ 0 290




cosf 1
——=cotl, —
sin@ sin @

= cot2 0+1= cosec2 0 ( =CO0Ss€eC 9)

feuofy - (sing)zzﬁmé‘cr sin’ 0 for@r SIar @ 3R 39 A8 TharaR el Uer SirdT 2 |

JrIq (sin 9)2 =sin” 6 # sin 6*
31 oIl SIguTal ! T S UbR A T A1V |
G ST SaT8vl

5
Q18T 8: Ifg cosh = B g1, dl sin6, tand & 419 f&1oT fHd1g

JLUTAl § UREUR I P HETIdT 6 91d DIAY, S4fd 0 b YT BT 2 |
gl : BH O & (b

sin® @ +cos* 0 =1

2
sin29+(ij =
13
.9 25
sin“0=1-——
= 169
.9 144
sin“ @ =——
= 169
2

— sin@z% (@ifF 0 =T P17 5)
_sing@ _12/13 12
“cos® 513 5
IQT18X0T 9: ATE tang=+/3 &1, @l o1 AT orfdia sgural’ &1
et orfidia srgural’ 4 wRER g9el &) ¥grdr 9§ 91 $1f6Y S9fe 0 v

AT BT 2 |
&l : 89 Of1d & fd

39 tan0d

1+tan’ @ =sec’ 0

2
g7 sec29:1+(\/§)
=1+3=4
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= secO=%2

AT secH =2 (FIfH O A BT 7)

cosf = =—

secd 2

JId:  sin@ =tanO-cosb

1 3

1 9: 3~—:—,

—  sin \/_2 5
cosecH = b _ 1 —i
sin (\/5/2) NEN

1 1

cotf = =—

tan® /3

IQTBRVT 10: AT cosec 4 =+/10 B, A1 cot A,sin A,cos A & HTF FHwIoTAT
JFUTAl H UREUR Wl ) WEAAT 9 A1 SIFY | 9 A HI0T 2 |
gl : BH I © [

1+ cot?> A4 =cosec? 4

= cot> A=cosec’ 4—1

- cotzA:(m)2—1:10—1:9
= cotd=3 (qIfF 60 gF BIUIR)

3rg sind= ! =

1
cosec 4 \/E

3ilv  cosA=cotA-sin A4
1 3

NN

JQTERT 11: AfE sechd =%7 gl, di 2y Raivifidia srgural &1 et

IFurdl § URER el B WERdr 9 | S| 6 YA BIvl 2 |
gl : BH O © b

1+tan’? @ =sec’ @

g7 tan’ 0 =sec’ 0 —1

2
It tan? 0 =(%] -1
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cosf = =——=
SR secd 17/8 17

3rg sinf =tan6@cosl
15 8
T
15
17

L1

sin@ (15 15
17

2 2
. -b
IQTERT 12: AfY s““9=az+bz &1, cosd 3R tand @ HA Fyatoriida
a

ILUTAl § UREUR AHE D1 Al 9 A1d ST 9 YA HIoT 2 |

3R cosech =

2 42
a —-b

a’ +b?

ol : sinf =

I sin?O+cos’ =1

= cos’0=1-sin’@

(0]

(a2 + b’ )2
( +57) ~(a® ~07)

(a2 +b? )2

4a’b*

(a2 +b? )2

g7 cos’9=1-

2ab
(a2 +b° )
2ab

AT COSQ:(aZTZ) (" 0 A BIB)

= cosf =+
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a* - b
sin@ _( a’+b° ]_ a’ - b

cosQ_( 2ab j_ 2ab
a’ +b?
YI9HTIT 14.2

3d  tanfO =

e oA JrguTal H Gl §1RT 8 HITSTY < [T 1 9 10 AP |

1.

9.

10.

g cosecA:% Bl T cot 4,sin 4,cos A T AT ST BT |
20 .

gfe tanA:E 81, dl cos A TAT sin A & | Sd PIOIT |

gfe sinA:% Bl dl cos 4 3R tan 4 & 94 I1d PIFY |
1

?Zl'flc{cosBZE 81, Al Y eToTiHd R 31T SiTd oy |

. 5
g s1nA:E Bl dl cos A 3R tan 4 BT T ST HIFY |

afE tan 4=+/2 -1 B, a1 g ST 6 sinAcosA:ﬁ.

gfe tan A=2 &1, a1 sec Asin A+ tan?> A — cosec A T {7 SITd PITOY |

. 4 4tan6 —5cosb
gy sinf@=— 8, a1 ——————————— T |19 SI1d BITIT |
5 secO +4cotd

1
Ifg cosd N 81, Gl sin@ TAT cot& T AT T BT |

gfe sec=2 dl tan6,cosO TAT sin@ &I AT ST DI |

14.04 fH®IoTiA T ﬂacﬂﬁla)—[ﬁl (Trigonometric Identities) :

U o Haer S I TRpeh D101 & I | AT @ ol Had | 81, 5 Al uvgea
i srgura uRaifya &, Rrerorfada sdafia eeard § |

3TTEE 11.02 AT 11.03 H ulR¥IAT Tt Haier 0 & T+ A1 o folg | = | 1a: 32 ol
SENIREACE R

Preprorfady # el ey gaaffiem T8l g1 € | SaTEvnef sin@ = cos@ bact Tb BRI &
Fifh I8 0 & TR A & foI T 7781 2 |

oA wdafiere of g H3d qag 14 375l &1 e 3 @=1 a1z :

(@)

AIGHBT H T el BT I | TR B & AT AT FAAHBIRAT BT TATT FHRA §Y

EGNEEEIRESCES 294



(i)

(iii)
(iv)
™)

Ife waafier § o3 BHaorfidia srgurd faemr i, a1 |4l srguTdi B sine 37erdT
cosine I th HRAT AHITAT GIALTSTb BT © |
oofl fere (Redical sign) IIfe $Ig 81, O TATHRIG BT A1 |
HE TR H URFIFHROT BT ITART Y fham 7 el 2 |
I FAAMDBT & Teb Uel Pl AT A SN UeT H U 81 [T ST Hepell 81, AT QI
geTl” 1 AATHAFG AXA HId UPH 81 T 212797 U & HATAS IH
(Identically equal) g &= <1 A1fBT |

gserdia Sarevl
IqTER0T 13: fova adafist &1 fug sifve :

(sec0 + c0s0)(sec0 - c0s0) =tan’? 0 +sin’ 6.

g - g Us =sec’ O —cos’ 0

2 2

=1 a
:1+tan29—(1—sin29) Secf ”?“29
cos“@=1-sin" 0

=tan’ 0 +sin’ 0
= gfeyor uer
ITENVT 14: foreq gdafisT &1 g sIifve :

(cosec0 - sin0)(sec0 - c0s0)(tan0 + c0t0) =1.

&l : a1 U8 =(cosecd —sin ) (secO —cosO)(tan 6 +cotH)

1 . 1 sinf cos6@
=| ———sinf —cosf +—
sin@ cosf cos@ sind
(¥ BT sine TAT cosine H gl UR)
B 1-sin?0 [ 1-cos?@ [ sin® 0 +cos’ O
sin @ cos6 sinf cos @
_cos29.sin29. 1
sin@ cosf sinfcosO
=1

= gfeyor yeg
IqTER0T 15: fov adafiat &1 fug sifve :

[ o FaaAERIT & SUANT 9|

\/sec2 0 + cosec> O =tan6 + cot 9 -

8ol dEH UL _ \/sec2 0 +cosec’ 0

- \/(1+tan2 9)+(1+cot2 9) [ Torqd FdAffERN & SUIrT A
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:\/tan29+2+cot29

:\/tan2 0 +2tan@ cotd +cot? [+ tanOcotd =1]

=\/(tant9+cott9)2

=tan0 +cotd
= gferor uer
ITEXVT 16: foe gdafiiaT &1 g ifvv :

, /1 +cos6 =cosecd + cot@ -
1-—cos@

gl - a1 ueT § SO0 g &l g & folg 3fer qom 8 T 1+ cos@ ¥ 0T &R W

\/1+cos9 \/1+cos@
CIGRSSE = X
1—cos@ 1+ cos@

- /(1+cos9)2
B 1—cos? 0
2
— ’M ['.'l—coszezsin2 9}
sin“ @

_1+cosf

sin@

1 cos@
+

sin@ sin0

=cosecO +cotf

= gferor uer
SareNv 17: 9 gdafier &1 fag sifee :
M=l—2sec0tan0+2tan20-
secO +tand
1 B sin @
Tel - g Uy = Ccosf cosb
1 N sin @

cos@ cosb

1-sin@ cos@
X

cos@ 1+sin@
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_1-sin0 .
" 1+sin@ ()

1 sin @ sin’ 0
. +2.
cos@ cosO cos’ 6

gféror uer =1-2-

_c0529—2sin9+2sin29

cos® 0

(cos2 0 +sin> t9)—2sin19+sin2 0

cos’ 0

B 1—2sin@ +sin’ 0
1-sin’ 0

(1—sint9)2
(1—sin9)(1+sin9)

1-sin@

:1+sin9

BT (1) R ()9
s 9 ueT = gferor uet
IT8YVT 18: foeq gdafisT &1 g sIifve :
1 11 1
sec) —tanf cos@ cos@ secH +tand .
gl : QI Uell &1 g feiRor

1 1 2
+ = =2secl
secl —tan0@ secO +tan@ cosO

_ secO+tanf +secf —tan 0
&9 91F e (secO—tan0)(secO +tan o)

B 2secH
sec’0—tan’ 0

B 2sec
l+tan® O —tan’ 0
=2secl

= gfeyor ey

297



IqTER0T 19: fova adafiaT &1 fug sifve :

sec®0—tan®9=1+3tan’ 9 +3tan* 9 -

gl : B & f&
a-b z(a—b)(a2 +ab+b2)

o1 A e =(sec” 9)3 ~(tan’ 9)3
= (sec” 0~ tan” 0 ) (sec* 0 +sec’ O tan” 0 + tan* 0
=(1+tan? 0 ~tan? 0) {sec” 0 (sec’ 0 + tan” ¢ ) + tan* 0
=1-{(1+tan0)(1+tan? 0+ tan0) + tan* 0|
=(1+tan’ 0)(1+2tan’ 0) + tan" 0

=1+3tan’@ +3tan* @
= gferor uer
Y HTCAT 14.3
=1 FaafiammRll & Rig I -
1. cos@-tan@ =sin6
2. (l—sin2 9)tan2 0 =sin’ 0

cos’ 0

+sin @ = cosecl

sin@

4. (sin9+0059)2+(sin9—cos9)2:2

5. cosec® O —cot® 0 =1+3cosec® Ocot? @

6. sin @ cosO + tanOsin O + cos> O =sec O
cos@ sin @ .

7. + =sin@ +cosf

1-tan@ 1-cotd

cosecO cosecO
8. + =2sec’ 6
cosec—1 cosecO +1

sinf  1+cos6

l1—cos®  sin®
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sin@ 1+ cos@

10. - =2cosecH
1+cos@ sin@
» l-sinf 1-sinf
' \1+siné cosf
12. seCé’-’_1:c0t6’+cosec6’
secH —1
(cosec2 0 —1)
13. A~ —cos@
cosecO
14, (1+cotf —cosech)(1+tan 6 +secd)=2
f {Hg‘caq\vf fﬁ?‘g}
1. T |HDIT Byt 4
[SESH TR
. M 9 - .. 9 — e t 9 —
(i) sino=rg (i) €080 = e (i) 2= e
AT D
(iv) cosO = (v) secO= p— (vi) cosecO = -
sin @ cos@
) . 9 — .. te —
2. (i) tan 050 (ii) co oy
“en 9 — . 9 —
(iii) cosec sin@ (iv) sec cos@
3. sin®O+cos’0=1
4. 1+tan’0=sec’0
5. l+cot’ 8 =cosec’ 0
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fafaer g9s9TT 14

I tan@ =3 Bl sin® BTAFE —

1 3 2
(A)ﬁ (B) g ©) NG
afe sin@z% 2dl tan® BTATE —

5 12 13
(A) 12 (B) T ©) 1
af \/gcosAzsinA gL dl cotd BIAFE —

1
(A) 3 (B) 1 ©) B
C
5 12
gfe drcotd PTHME —
4 13 B

12 5 5
(A) T (B)E ©) I}

C 2 A

0
Ife \Nl al tanf BIAAE —
5

B

1 2
(A) 2 (B) NG ©) NG

C
gfe J ¢ X dl cosec HIAME —

A - B
() = (B) = © =

sin? 30°+ cos? 30° BT A & —
(A) o (B) 2 (C) 3
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(D) 1

12
D) —

(D) 2

13
5

(D) =

1
(D) 5

(D)

(D) 1



cosec? 55° —cot? 55° HIAM & —

(A) 1 (B) 2 ©) 3 (D)o [ ]
afg COt¢=% 81, dl cosecd BT A & —

21 20 29 21
(A) 3 (B) 3 (OF ) 5 [ ]
afd AABC § ZB=90°, c=12 TN T a=9 AN &, cosC HTHAM® —
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